read the recipe. Circle,
put the pizza in the fridge / cooker.

“How to make a pizza
Roll out pizza dough. Make a circle!

put tomato sauce on the dough.

Next, you can use cheese, meat
or vegetables.

put the pizza in the cooker.

Now eat!

0 Read and match.

1 Roll out pastry. Make a circle!(A)
Put the pie in the cooker.(F)

Peel and chop the apples.(7%)
Put the pastry on the apples(E)
Cook the apples{C)

Put the apples in a pie dish.(D)

o N o W R

( Complete the instructions with the
vords in the box.

") some ” 2 mkﬁﬂ square! @
matoes. 4 ]2 l R . .
n the cooker. |

Put_ the tomatoes
the pastry.
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. Read and match. BRDDD

I like food! P
e — ) I

.‘h‘- _f’l’-
-f..,__-l'"-_-'-'-l—— _-———‘_'-.- -

“Tdon't like fish. I like cakes
.. and milk and ice cream.

il e

_Llike fish. Do you like fish?__

.,
= p——
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@ Read the recipe. What is it for?

You need bread, butter, cheese and salad.
Put the butter on the bread. ‘[‘- =
Put cheese on the bread and butter. S
Put salad on the cheese. -
Put more bread on top.

a A pizza b Asalad

f@ Choose your favourite meal. How do you make it?
Draw and write.

U, 2)

tn &~ W N =

'

O

{w
|

G

1 Roll out pizza dough. Make -

[mnke put chop

2 Chop the mushrooms, G circle,
3 put tomato sauce, mushrooms and meat on the dough

" & Put the pizza in the cooker.
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Number pairs to 10

. & 8 ® & 8 &

When you are thinking about number pairs to 10, it doesn’t matie,

which order you write the numbers, they are the same pair

........-.'."..'......-.'l

e
el
-
-
it
=
R
———
Ny
e e el
—__
*.
L

Cross out each number as you use it. Write each number pair twice in
the table, just like 0 and 10. Two have already been done for you.

n+w-1o¢ 1 4G= 10 248=10 | 3+7= 101£}+6 10
10+0=10 | G4+1=10 | 84+2=10 | 7+3=10 | 6+4=10
Which number could you not use? Write down the number bond for it.
5 |+ Bl= 10

Oh no! Gremlins have been here and taken some numbers.

Werite in the pairs that add to 10. Make sure they all look different.

K6 &F " &

2+8=10 W+3 10 [4+6=10 } 6".'io"1'+°1=1o |

ﬁ
§8+2 10 3+@-10 a+@-1ﬂ‘_lr?g¥a—10 ”?qqu:m:

Hint: Try reversing the order of the numbers within the pairs to find

all the possible pairs

: = = B
Scanned by CamScanner




